map +ask o (p-Hxt)

mr.0.0 mr_0_1
(k.,v.) (x3, v3)
“bucket* __, | (ka,v) (e, vs)

VY

Oll‘l'ru‘l' of map ‘Fhae'l'ion: Nout (k,V) pairs

Let n,, =5.

mar task 1 (q.+xt)

mr.1_0 me_1_1
(k.,V.) (k),V;)
(ke, ve) (ke,Vs)
(ka,va) (k!,vq)

Example: pist Comtains “apple™ 5 Hmes. We're munning WC.
So (KiVvi) =(“aprie”, S). L4xt alse contains apple, but 3 hmes,
Se (k,vi) = (“agpie”, 3) . Note +hat the ki Ham map
fask 0 ;5 the Same a5 fhe one fruwm  map task 0.



Worker 14 now works on creduce task
mr.0.0 mr.1.0
(&, v.) (k,v)
(kl,V;) (kb,V5)
(ka,vy) (ka,va)
Concat anl 6 (k,v) rdirs and Sort.
(k,,v.)
(k,,v,)
(k2,vs)
(kz,Va.)
(ke, vo)
(k"lv‘l)

Reduce K,: Take in (k.’Vu) and (k.,Vu)

(k. v.).
Reduce K3: Take in (k-;, V-,.\ and
etec.

0.

Gnd katl-

priuee (ks ,v3).



No‘l’t +hat +he ﬁllowinj Stenario where a redwce

task doesn't “4""‘ “JJ"‘Jq'I-e" all  <4he valg

-Fgr a kc, 3 imro:ﬁ\-h—.

Ex:

This

mr.0.0
(k.,v.)
(kz' v‘)

(ka,vy)

mr.1_.0
( kl’, Vy)
(kh Vi)
(Kka,va)

’ l’cJuco

s ihfos.h‘blc ble

module will

task O

mr_0.1
(k3, v3)

(ke,vs)

mre_1_1

pet (kW)

won't be aware of (k.,v.).

'H-c hash  Arnchon and
a'lJ (k|'v.)

info —the

“Same  bucket® (ie. if (k., v, goes inte mrO_;,

(K.,V.) goes

me-1_%),



